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3. 4.

Below is the graph of f(x) Below is the graph of g(x)

2y

M R

lim £(x) =0Q

lim f(x) = ~OR

lim g(x) = 4 lim g(x) = O

lim f (x)=} lim f(x)=.} 1i1g.f‘(x)z§)§'§gl_ g(x)r—@x{;l}; gx)=p limg(x)= O

lim f(x)=lim f(x)= limf(x)= lim g(x) :‘5 lim g(x) %» lim g(x)= D Né’
x->07 __(j x—>0" - x>0 -~ x—> 1 x—-1" - ;} x> -1

lim S e fim S =g lin S = lim ()5, lim ()5, limg(x) = DY
On what intervals is f(x) is continuous? On what intervals is g(x<ifont|nuous?
-0 Gyov 03310 7 Loy )V

5. Use the graphs above to find:
b} find lim 9() - »«;{3” ¢) find lim

a) find xm[f(x) g(x)] #F00 T RS E
3y = (T4

EOH=(6] .

6. The table below shows several measurements of the velocity of motorcycle driving on a straight road. v(t)

(é, */\) ")/’g“‘ [W%

x+g(xﬁ

is continuous on the interval [3,17] .

{ (min)

3

5

7

11

13

v(r) (meters/min)

221.7

321.4

457.8

563.9

421.5

297.2

What is the least number of times where v(t} is exactly 325 meters/min? Justify your answer.




